Efficiency vs dr

x 0.5
< E
» 0.45F-
© 0.45F
> E
o 04F
c E
[} E
© 0.35F
5 E
0.3H
0.25F
0.2H
0.15H
0.1+
0.05k
LB EREE T
o s = } } L5 I
= —a— D IVI VOOUT_RO0000000TI__Global__CMSSW_ckiPUS0 __ RECO
@ of--| —— DOM"V0001~R000000001Global__CMSSW_mkFitPU50__RECO
24 —_ D8M V0001-R000000001_Global _CMSSW_mkFitPU50CowPtQuad__RECO
15[ -| —— DQM_V0001-R000000001_Global _CMSSW_mkFitPU50LowPtQuad-ioBkwd__RECO
ARERIIR lIJj |II||
1 B I

1

[ Efficiency vs dr (track,jet) |

1
TP min AR

§0.05
00.045
=
%0.04
9.035
>
£0.03
o
j5=E).025
)
0.02
0.015
0.0
0.005

10

Ratio

1072

=
S
w

Efficiency vs pu

1
AR(TP, jét)

-1

Ratio

H
i
—f‘g r

200 30 40 50 60 70




	Contents
	Page 1


